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Choose the correct option (1x15=15)

1. If sin@ = g, then the value of cos 20 = ?
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a) E
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b) =
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C) E
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d) -
2. sin36° =7
a) @ . b) “i“ ;o 2W10-2V5 ; d) 2V10+2v5
3. cos72° =7
a) @ . b) “i“ o W10-2v5 ; d 2V10+2Vs

4. Given 2cosfO =x +§ . Then the value of cos20 = ?

2 1
a) X +x_2
12y L
b) 30+
3
C) X +x_3

d) S+ )



5. If sin@ = %, then the value of sin 20 = ?
a) 1—5
b) =

C) E
d) Z

6. 2sin25°cos15°=7?
a)sin40° + sin 10° ;b) cos40° + cos 10°; c) cos 40° — cos 10° ;

d) sin 40° — sin 10°

7. /3sin10°= ?
a) sin50° 4+ sin 70° ; b) cos40° 4+ cos 60°; c) cos 50° — cos 70° ;

d) sin 40° — sin 60°

8. cos 2°—sin 2 =7

cos 2°+sin 2°

a) sin47°
b) cos43°
c) tan43°
d) cot43°

9. The general solutionof cos @ = 0 is ?

a) 6 =nrw
b) 6=(2n+1);
c) 0=2nn

d 6=02n-1;7
10. The general solution of sin@ = 1is?

a) 0 =nrw
b) 6=(@n+1);
c) 0=2nn

d 6= (4n+1)§



11. Iftan@ =1and 0° <60 < 360°,then6 ="
a) 45°& 225°
b) 45°& 135°
c) 45°& 315°
d) 45°& 210°

12. The general solution of cot8 = cota (a # 0)is?

a) 6=nm+a

b) 0=n1t+g
c) 0=nm—a«a
d 6=«a

13. The general solution of cosec 8 = coseca (a # 0)is?

a) 6=nm+a
b) 0=n1t+§

c) 0 =nna
d) None of these.

14. The general solution of sSin @ = cos B is?

a) 0=02n+1)7

b) 9=mz+§
_T

c) 0—4

d) None of these.
15. The general solution of the equation tan3x = 1is?

T
a) mt+1lr_2
b) n71'+z
c) —+-




